Understand and use trigonometrical relationships in right-angled triangles, and use these to solve problems, including those involving bearings

	The angle at the ground the ladder would have to be placed at to reach 6.3m (nearest 0.1m) up the wall.
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	A value of x (given to the nearest integer) for which

10° ≤ y ≤ 20°
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	An equation to find x.
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	An equation to find x.
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	A value for y for which

5 ≤ x ≤ 7
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	The value of x so that the hypotenuse is greater than 10.
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	A value for y for which

10 ≤ x ≤ 14
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	The value of x
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	The value for y rounded to the nearest degree.
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X = p sin t
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X = q cos t
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